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1 Introduction

In this contribution, we discuss a latency requirement for TDD systems. The recommended value for it in [1], particularly for U-Plane latency, is too tight when TDD specific features are considered. Hence, it is proposed to reconsider the latency requirement in TDD mode. 
2 Latency in TDD mode
It is not desirable to apply the common requirement for latency to both TDD and FDD systems. In order to meet the tight latency requirement, TDD frame length should be shortened enough. However, a short TDD frame leads to the following problems: 

· Overhead due to guard time: 
Unlike FDD system, the frame length in TDD system has to be chosen on the basis of optimizing either traffic capacity by reducing overhead or access latency [2]. With shorter frame length, lower latency and better use of reciprocity can be obtained, but the overhead time for TDD switching increases. 
· Latency vs. Coverage: 

One of coverage-limiting factors in broadband wireless network is a low transmission power of UE. Considered a common latency requirement for both FDD and TDD, the frame length in TDD should be the same as in FDD: A simple example is shown in Fig. 1 (a) and (b). However, as the assigned frequency band becomes wider, the allocated power per subcarrier in a data burst would be decreased due to the peak power limitation. This leads to a shrink of the uplink coverage. In order to maintain the same cell coverage as in the FDD case, the TDD frame should be lengthened so that the allocated data burst would occupy as long as possible in time-axis rather than in frequency-axis, as shown in Fig. 1 (c). Hence, it is noted that to achieve the same coverage performance between the two systems, latency requirement for TDD should be relaxed than for FDD, so as to allow a long TDD frame.
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Figure 1. 
Data burst allocation in FDD and TDD systems 
· Increase in downlink-uplink interference among the remote Node-Bs. 

Due to an unexpected and unwanted propagation condition (e.g. along the river), the strong downlink signal from a long distant Node-B may arrive at other Node-B even for uplink time period. In this case, the desired uplink signal at Node-B is interfered with the downlink signal. As shown in Fig. 2, the total amount of the received interference increases with the TDD switching frequency. Hence, the shorter frame length brings about the more downlink-uplink interference.
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Figure 2. Downlink-uplink interference among the remote Node-Bs
3 Conclusion
This contribution presents the problems caused by a tight latency requirement for TDD. The current requirement in [1] bars the TDD frame from being long enough. Hence, we propose that the latency requirement in TDD system should be reconsidered.
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